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ECONOMICS

Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

PART—A / Resl—=

Q. No. 1(a—f) carries 1 mark each - 1x6= 6
Q. No. 2( a—f) carries 2 marks each : 2x6 =12
Q. Nos. 3-7 carry 4 marks each 4 4x5 =20
Q. Nos. 8 & 9 carry 6 marks each : 6x2 =12
Total = 50
PART—B / es—3

Q. No. 10( a—f ) carries 1 mark each : 1x6.= 6
Q. No. 11( a—f ) carries 2 marks each : 2x6 = 12
Q. Nos. 12-16 carry 4 marks each : 4x5 =20
Q. Nos. 17 & 18 carry 6 marks each : 6x2 =12
Total = 50

Total (PART—A & PART—B) : 50+50=100
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PART—A
Rreto—s 2. Answer the following questions : 2x6=12
I ] Teq
(Introductory Microeconomics ) P
1. Answer the (a) Distin ish between microeconomics and macro-
follows : g1
o owing as directeqd : economics. | 2
\9 lainﬁw ﬁtpf‘
. lx =
SR T g Vi o) T SRR SR e e e |
(a) Define the term ‘scarcity’ Or / @Al
TR @ iy | What are the central problems of an economy?
s @ e EERsl 7
(b) Opportuni :
P nity cost is also known as : ; .
- CcOoSst. (b) Write two determinants of individual demand. 2
(Fill in the
blank fesTs iR et 751 Sem s |
51 3 )
A e i mE iﬁe T | e
r/ [l
(<1 512 =f
: ) What is inferi d? Gi le. 1+1=2
(c) What is by et ns hat is inferior goo ive one example
forg® 7 6 7 b1 Tl e |
s @91 92
c) Define the following : 1+1=2
{d} Define vari {
iab
able cost. were Tracas ke
SR T i iy | (i) Total product
T
() TC= __  i1FC ¥
' (i) Marginal product
(Fill in the blank) ' eGP Be
| (m@ﬁﬁﬁﬁﬁm) Or / 9
(1 Why is the AC curve U’ i _ ;
aped? Briefly explain the concepts of short run and long run.
AC @W-ﬁ;q (.U, F\g a‘ﬂ? 1+1=2
/126 | ww%ﬁ—ﬁwm@ms{wqﬁmwn
[ Contd.

/126



e

( 4) <
. (5)
(d) Distinguish between fixed cost and vari -
(SRS SR S o0 TR — of1efs oy s 2 3. Explain the law of diminishing marginal utility with the
A help of schedule and diagram. 4
Or / =%y @mewmm%wﬁ@ﬁ?@mle
Or / \d1

Draw a long-

run marginal cost : :
cost curve. curve and long-run average Define price elasticity of demand. Mention any three
eI 2 1+1= factors influencing price elasticity of demand of a
T R TR T 1=2 commodity. 1+3=4
v W @Qﬂ W{W W I y

mﬁﬁﬁwﬁﬁﬂﬂwa@ﬁmumﬁﬁmm&ﬁmm
orsife® s a1 @ @ fef Tome ecEd 9 |

((-3) What is the :
relationship be
tween AR
and MR?

TS SR W AT SR e 7oy Ry 9 9 4. What is meant by returns to a factor? State the three
: phases of the law of variable proportions. 1+3=4
Or / G337 %%Tma%ﬁeﬂw gﬁm%q@?ﬂﬁaﬂﬂwﬁr@ﬁf‘@mﬁﬁﬁw
ACRIN
e
rove that for a firm, price = average rey Or / J€l
21 91 R I @9 s e, |
s M, 79 = 9% 5y | From the data given below, calculate (@) marginal cost and
(b) average cost : 2+2=4
wore faa oYAifEa ol (a) 201 T W (b) T° T sl 41
(f) Write tw
Commodj?;y factors that affect the market Output 112
' Supply of
a
G GO TS99 2B (AIET 1 s 9 Total cost (¥) |10|20
401 7 3R (53)
Or / 93
If the percentage change in quant 5. Mention four features of perfect competition. | 4
percentage change in price is 4, ca] 1y supplie e’y fo sfecafareryeie I&E w01 Caf¥Er TeEd 901
supply. 2 Culate Price elas.t'o- and Or / %<1
it sE @b U
A T RIS 4 oRN o Distinguish between monopoly market and monopolistic
1, QIsE WY Biewemer [y 37 | "fﬁm 10 o market.
A
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6. Distinguish be
tween price ceilin -
g and pric
e % AN e By S Ry price floor. 4
Or / g1
Mention the effec
ts of th .

CommOdity ; e following on the supply of a
(a) Fall in the price of fac-:tOI'S 2+2=4_
(b) Rise in the per unit tax

ﬁﬁﬂﬁ@%emmmqm s g
9 90 :

(b) ofe 9% w5 w9 3%

7. How does impositi
position of :
a firm? Ol per unit tax affect Supply curve of
o
4

TP I ACEMC ARG N @16 @ 2o
T© @2
Or / &3[1

The demand and
supply functions
perfectly competitive market are given gil a firm under
ow :

D=5-2pP
S=-25+3P
Where P = Price
T » D =Quanti
S = Quantity Supplied. Y [ Bemanded B
Find the equilibrium price and quantity
Il efecfrenEe e afevm g ot wre e
kel S T wers fogy
D=5-2p
S=-25+3P
TS, P =T, D =RAR biféwl WIF S = A8 o |
ST 71 S 2[4l 51 1

/126
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8. What is consumer equilibrium? Explain the conditions of
consumer equilibrium with the help of schedule and
1+5=6

diagram.
oo™ Sl {7 <31 TR RS TSI SRANIS] (FCACT e
<41 =, TP I foad RIS I 4

Or / 94l

market demand curve is derived from

Discuss how the
individual demand curves. 6
mﬁwmﬁmﬁmwwwmﬁﬂquwﬂwﬁ,
RGIPRIRSEIN
9, “Under perfect competition, industry is price maker and
6

firm is the price taker.” Explain.
“opef eSO TS ool CaR @ el oI oS (xR T
sreerplal 1”7 I <41
Or / =41
explain the process of

With the help of a suitable diagram,
f commodity under

determination of equilibrium price o
perfectly competitive market.

Topre foad R i AFSABETE T &9 B SR T e
2ifGRICH! T T

PART—B
Fe1—
( Statistics for Economics )
10. Answer the following as directed : 1x6=6
e e ot spif e i
(a) Who is known as the father of statistics?
e Afes AR Reerm Pre ot &= aw ?
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(b) What do you mean by wholesale price index?
IR 74 SRS Jferce & qm1 2

(c) Write one merit of di
irect personal in .
vestigation.

2OT SIS PR b1 Ffgr fBra |

(d) Which of the followi .
oW
tendency? Mg 1s a meas

SEe (PIFCHT “Tafocq (FER 2TOR To1 GRT o4 9
(i) Arithmetic mean :
QRIS
(i) Median
ST
(iii) Mode
ERGRS

(iv) All of the above
GO ECATA

ure of central

(Choose the Correct optj
e ption)
ﬁmw%ﬁm)

(e) ____ is the difference between t},
e

the smallest value. largest value and

(Fill in tpe Bleni

—— (90T |
(*ﬂﬁ’l‘oﬁoﬁw)

O (A AT Ty S forey

(/) What is Lorenz curve?

oA @9 2
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11. Answer the following questions : 2x6=
v erpryRd e
(a) Define the term ‘statistics’ in plural and singular
Sense.
g T 9T AT oifdora’d we e |

Or / %1

Write two importances of statistics in economics.

e ARPRAR o1 8FF o1 |

(b) Write two characteristics of statistics.

ﬂﬁﬂ%ﬂ?ﬁﬁhtﬁﬁ%}ﬁ?ﬂi
Or/ 9«1

Mention any two limitations of statistics.

o R T B! Al Sea 4 |

(c) Calculate range and coeffic

following data :
woq SR #[1 ePTR W 2PN BAR? Sl 0

8,412, ‘118, 29 113, 20
Or / %4l

Write two demerits of range.
oPT B! S Tord|
(d) Mention two merits of median.

T 751 R o
Or / 9[l

Write the formula of calculating medi
frequency distribution.

wifRfes RS ReEms cFas T4 a1 7ot |
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(e) State two demerits of standard deviat;
ion.

e RoeTa o1 PR Seae 3w |

Or/ 231

Mention four alternative methodg
standard deviation in discrete Series

SIER RIS O RES Ert e v
- O T RO S R orafs iR

for calculation of

(f) What is s i
diagram catter diagram? Write One merit of
; Ol scatter

Rifee Ba =1l R 2 2 <1 5 ey 1+1=2
Or / &<y

What is ari ic Ii
rithmetic line graph? Mentio
Il one of j
its uses

W@%mﬁﬁs?mmwwﬁw 1+1=2
I

12. Write four main oparts of a good tabl
(P
S SIfeTe] GBI BIRGI 21 S foyey | !
Or / g1

Define sampling errors. Mention it
S maj
n

T O 5 A A 1R 90 ererng types. 143=4
A

13. What is diagrammatic presentatig

economic analysis? R? How jg it
It useful in

foar Semgrem 2 wftaies W%W%OWW o 1+3=4
‘W‘Tﬁ?
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Or / Jl

able :

Draw a histogram and polygon from the following t
§2%2=4

<o ORI 1l LA SIF TRgH KA I :

Marks obtained |10-20 20-30|30-40 40-50(50-60(60-70
o 99
No. of students | 10 12 16 20 18 9
Rg-ga R
14. Define arithmetic mean. Discuss its properties. 1+3=4
mﬁﬁﬂ*mm@ﬁmlw CAREPTR e 1 |
Or / 941
om the following table : 4

Calculate quartile deviation fr
<o ORI 1 g B W AT T :

i T e O i
v |30 [38]50 22 | 40 | 25 | 60 |

15. What is dispersion? Discuss the characteristics of a good
1+3=4

measure of dispersion.

et A 1 2 e e e (R EPTR SACAb 4 |

Or / =41

Distinguish between absolute and relative measure of
dispersion. 4
Rgmelei 21 TP S SR e e o ol |

16. What are essentials of a good measure of central
tendency? 4
se{ (R 2Tl 7 sreREerTR 152
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Or / =41
Define correlation. Discuss its main types. 1+3=4

SR SR WAl | ZR 24 ARPTIE, AICEA] 4 |

17. What do you mean by primary data? Explain the different |

methods of collecting primary data. fBg /
2= o Ao o R o 2 i S Tiered Rien ez e
<91 |

Or / 941

Define classification. Describe briefly its main objectives.
1+5=6
CiTRFe wike i | T Y3 SRR BCE I 4 |

18. Explain the meaning and importance of in/dex numbers.
2+4=6
5% R S TIF PG R 70 7 |
Or / J11

Calculate the mean, median and mode from the following
frequency distribution : 242+2-6

wee Tl qRETel Reea «& anfifes T, AN I = fofy o

Class P oy '
interval - |20-25|25-30|30-35/35-40|40-45|45-50|50-55/55_¢0

e RIRacAl]

Frequency 7 9 15 28 30 20 i 5

SAkSIEAT LS

* % %k
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